NAME: ____________________________________________


Part I: The tuition for full-time undergraduate students at Nazareth College is $25,000 per year. There are 2,000 undergraduates to Nazareth. So, the total revenue that Nazareth College receives from tuition is: $25,000*2,000 = $50,000,000 ($50 million). 

Suppose President Braveman has performed a study and finds out that demand for an undergraduate education at Nazareth College is inelastic. For next year, he proposes a 4% increase in tuition. 
A.  Do you think total revenue will increase, decrease or stay the same as a result of this increase in tution?
B. Explain your answer.

C. Turn to your neighbor and discuss your answer.
Part III. Please do not answer until you have been instructed to do so. 

REFLECT:  Your mom is furious about the increase in tuition and thinks it is a bad business decision on the part of the college because it will make students angry and they will leave. She has not had economics since high school. Using your knowledge, explain to her in writing why her reasoning is wrong. 
